T X

AT

1 EEFREER (F27.10.1)

(BRI N)

X 7 =
FT1REXE 1,549 987 562
= E 3 969 602 367
" ES 871 521 350
il ES 580 385 195
T 2REXE 2,876 2,053 823
8k S 5 4 1
# B4 ES 1,180 1,026 154
& = E 3 1,691 1,023 668
FTIREXE 7,598 3,489 4,109
BER-AR-BHEH-KEXE 36 23 13
1% ] T} g E S 47 37 10
E W - B O FE % 328 275 53
g osE - N FE X 1,879 814 1,065
€ ®m - &K K =% 177 61 116
T8 E-Y & 8 & 57 37 20
PR, EM B —EXE 196 130 66
mR-MBEY —E XX 805 291 514
S EFHEEY—EX-BEE 365 134 231
B BF -2 B X B X 493 216 277
ES iy . & 1t 1,606 355 1,251
# & ¥ — E R # 289 188 101
Y—EREMIZHEINLZLED) 630 406 224
DNHEMICHBEBIAGTZVED) 690 522 168
DETREDESR 299 149 150

(B SM2ER BNRTHER




2 REHBAFEERY-EXES (F28.6.1)

E B £ % - #h A A HF R
=3 v Exmy MEBFRENSFTERYE | omre | gzsy EX

(BFT) | 1~4A | 5~20A [30ALLE| N W mgr e

® =4 1,762 1,270 439 45 8| 9412 111 1,778
B ® p: E 3 27 9 12 6 - 402 — —
MEFREDAFEIME - - - - - - — —
fed B4 * 139 70 64 5 - 1,043 — -
& = ES 350 260 84 6 - 1,837 - -
BR-AR-EVEEG-KESE 2 1 - 1 - 37 1 17
B & & & X 6 3 2 - 1 26 — -
E W OX B OFE X 28 10 15 3 - 335 2 27
# % %X, FE E 485 365 117 3 - 1,968 - -
€ m X K K E 20 7 12 1 - 184 — -
TEEEXZYPYREERE 21 14 5 - 2 73 - -
ST EF - BT —E R g 32 28 4 - - 93 3 93
BREHREY—EXRE 228 173 50 5 - 1,011 1 39
EEEEY —CERE BEE 130 117 11 2 - 357 3 34
BE 2B XEE 16 9 5 2 - 287 42 419
E & = 76 33 34 9 - 1,071 12 380
B e Y —E R £ 21 16 3 2 - 213 — —
T DY —E X XE 181 155 21 - 5 475 3 33
N % - - 0 - - - 44 736

(B SM2FR BINRHEEER




